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Answer any five questions
All questions carry equal marks

Convert the followmg to-Decimal and then tooctal.s,

il (125F ) = i
A (LOFHLLD), Y e

iii) (4234)s.

How do you convert a gray number to binary? Generate a 4-bit gray code directly using

the mirror image property. [7+8]

Find all the prime implicants of the function using Qumc McCIusky method
flab.c.d) = £(7.9,12,13,14, l:)+d(4ll) # 3 /\
/Design a circuit that converts 8421 BCD code to XS- x| cocle

77},

With a neat circuit diagram and waveforms explain the operation of Master Slave JK flip

flop.
Explain the conversion of SR flip flop into JK and D flip flop with an excitation table.
[8+7]
I,What are the capabrlmes and hm;tatmns of f nite state machlnes" Expl*am 3 f«firiz"-;_ ﬁ
'Draw the diagram of Mealy type FSM for serial adder. T 8+7 '

Describe the operation of TTL logic circuit working as NAND gate.
Realize 2-input OR gates using CMOS logic and then explain its operation with the help
of functional table. [7+8]

A o A # Jrea—

Eonvert the foll(}ng expressnon mto SOP and POS -k

if) X +(xty )(y+2)
Implement the switching function using F = Zm(0,1,3.4,12.14,15) using an 8 input MUX.
[8+7]
Design a 3-bit synchronous counter, with T-flip flop and draw the diagram...
Dlscuss the dlf’l’erences between combmanonal and sequentlal c:rcunt [9+6] £

‘\ _.-':

Mentnon the characterlsucs of dlffcrent Ioglc famthes Also compare the performance of

TTL, CMOS and ECL logic.
Design a synchronous sequential circuit which goes through the following states:
1.3,5.3,6,1,3,5. [8+7]
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